Int gration par parties
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fxz In(x) d x

f(l +x) cos(x) d x

f Arcsin(x) d x

fxz cos(3x)dx
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= Solutions

1 x?
fxln(x)d’x: -t ln(x)—?+k
2

fxz sin(x) dx = szin(x)—(xz—z) cos(x) + k
fex(l—x)dx=—e"(x—2)+k
x 1
fe”xdx:e”(———]+k
2 4
1 X
flen(x)dx: - ln(x)-—+k
3 9
f (1+x) cos(x) d x = cos(x) + x sin(x) + sin(x) + k
f Arcsin(x) d x = x Arcsin(x) +\ 1-x" +k
2 1
fxz cos(3x)dx = —xcos(Sx)+—(9x2—2)sin(3x)+k
9 27

In(¢) In(r) 1
f e P
2 t ot

2
fx 1+x dx=—(x+1)?3x-2)+k
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1
f e”* sin(x) d x = — € (sin(x) — cos(x)) + k
2

f@l_xxdxze_x (—ex—e)+k



